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I ’n mwn: three (or two) opinions about foreknowledge needed for liability
a  ®™ quotes v. 2 —must have Y7 D50, not WTpn nHYN
b y":v.2implies that the nbyn is only of nkmv, not w1pn
c  YRynw’ 1: two mentions of 0Hyn (vv. 2, 5) imply wTpn noYn ,nRMO DYHYN
i Analysis of y"1/8"
1 pn (and 8Y) - they disagree if he must know which nkmv affected him
(a) wY:identified contradiction in 8™
(i) Point: our mwn
(if) Counterpoint: 8™ finds liability for ny1ap nron, even if he doesn’t know if he ate a5n or 1nm
1. Dissent: yonin» "1 —v. 1 indicates that he must know which sin he committed to be liable
(iii) Resolution: in our case, extra mention of Y7 implies that he must know which nrmv it is
1. But: in v. 1, only emphasis is on xvn, not which one
(iv) »”7 vy is mentioned along with nnna, which was needed as per »17’s exegesis (above)
2 ny " they don’t disagree — only on how the na%n is inferred (w17 mynwn)
(a) Also: nww ", as implied by the fact that he would arbitrarily switch their positions
it Question (1775 837): according to Y"1 R", if he forgot both (W™ NkMY) is he liable?
1 Answer: yes —he did forget nrmo
2 Counter: he forgot wTpn — should be 1102
3 wN "7's solution: see if he stepped away when reminded of wTpn or nkmv
(a) Block: in either case, both components play a role in his avoidance when reminded
(b) Conclusion: should be exempt (»"w1) or it is a p>n (VRN )
d  Related discussion: 2 paths, one 8nv, the other mnv:
i If: he walked on A, then B, then went into wTpn, certainly liable
ii  However: if he walked on A, entered wTpn, had nrtn, went on B and entered wTpn:
1 pwom liable
2”1 exempt
(a) Rationale: neither of his entrances was in a state of NRmMV RN
iii ~ Dissent: nT 12 W maintains that v”1 would exempt even in first case
1 Circumstance: he walked on A, forgot he had gone there, walked on B
(a) And:w" holds that partial knowledge is not considered ny>1; mnon do
iv  Question: why is he liable according to n’non, when he got nxri in the middle — each ny»1 is a ny*p pav
1 Answerl(j2r277): nnaon made Ny poo=ny>7 at all
2 Answer2 (5”): authored by S®ynw> "y who doesn’t require foreknowledge
(a) Note: they seem to have flipped positions in their interpretation of »a7:
(i) an792if he ate 29N pav and was told, did it again, a7 says that just as you would bring a nxvn for
each one (if it was '), you bring an »%n nwr for each: (9”1 8™ only obligate one as per v. 3)
1. 577727 Ny pav sets up separate nkon events (= PAL NYP=NY'T)
2. 971,721 - just as certainty generates separate nRon events, N1 Pav separates NIN-DWR events
(b) Resolution:
(i) 77 is easy — they made nrm0 pav=nrMo only in our case (per v. 2) not elsewhere (v. 4)
(if) 571 identified the author as YRynw’ "1 to publicize that YRynw> "1 doesn’t require foreknowledge
1. Challenge: we already know that from his exhausting of the occasions of n5yn
2. Answer: he might have had a tradition, not rooted in text, that n>nna ny»p is required — Y"np
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